NEROVNICE - B

Ktoréa nerovnica zodpoveda danému grafu?

1) < —tttt >
-7-6 -5-4-3-2-101 2 3 4 5 6 7
A) r>-4 B) r>4
C) r<4 D) r<—4
3) « D >
-7-6-5-4-3-2-10 12 3 4 5 6 7
A) n<6 B) n<-6
C) n>-6 D) n>-6
5) «+—o >
-7-6-5-4-3-2-10 12 3 4 5 6 7
A) x<-5 B) x>-5
C) x>-5 D) x<5
7) —tt >
-7-6-5-4-3-2-10 12 3 4 5 6 7
A) x>2 B) x<2
C) x<2 D) x>-2
9) < P t >
-7-6 -5-4-3-2-101 2 3 45 6 7
A) b>-4 B) b<4

C) b>4 D) b>—4

Meno:

Trieda

) R —— >
-7-6-5-4-3-2-101 2 3 4 5 6 7
A) m>1 B) m>-1
C) m>1 D) m<-1
4) - —tttrt >
-7-6-5-4-3-2-101 2 3 4 5 6 7
A) n<-3 B) n>3
C) n<3 D) n<-3
6) <—————s >
-7-6-5-4-3-2-101 2 3 4 5 6 7
A) a>-2 B) a>-2
C) a<-2 D) a<-2
8) <—————o =
-7-6-5-4-3-2-101 2 3 4 5 6 7
A) v>-2 B) v>2
C) v<2 D) v<-2
10) bttt
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
A) x<-1 B) x<1
C) x>1 D) x<1
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-7 -6 -5-4-3-2-101 2 3 4 5 6 7
A r>—-4 B) r>4
C) r<4 *D) r<-4
3)‘13 >
-7-6 -5-4-3-2-101 2 3 456 7
A) n<6 B) n<-6

C) n>-6 *D) n>-6

5) «+—o

-7-6 -5-4-3-2-101 2 3 45 6 7
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C) x>-5 D) x<5
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*A) x=2 B) x<2
C) x<2 D) x>-2
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-7 -6 -5 -4-3-2-101 2 3
A) b>-4 *B) b<4
C) b>4 D) b>-4
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Meno:

Trieda

2) ——t—t— >
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
A) m>1 B) m>-1
*C) m>1 D) m<-1
4) < 11>
-7 -6 -5-4-3-2-101 2 3 45 6 7
A) n<-3 B) n>3
C) n<3 *D) n<-3
6) <+ @ >
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
*A) a>-2 B) a>-2
C) a<-2 D) a<-2
8) <—————a >
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
*A) v> -2 B) v>2
C) v<2 D) v<-2
10) bttt
-7-6 -5-4-3-2-101 2 3 4 5 6 7

A) x<-1 *B) x<1
C) x>1 D) x<1
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